	MATHEMATICS CHALLENGE TEST REVIEW

	1.
	Insert < or > to make a true statement:  
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	2.
	Evaluate:  
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	3.
	Graph the point 
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 on a number line.

	4.
	Which of the four fractions shown is not equivalent to the remaining three?


              A                     B                     C                  D

	5.
	Write an algebraic expression for the following:  7 is subtracted from z

	6.
	Add:   
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	7.
	Subtract:  
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	8.
	Evaluate:  
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	9.
	Evaluate:  
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)

[

]

5

2

2

6

10

-

-

-



	10.
	Simplify:  
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	11.
	If x = 3 and y = 
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, then 2x – y =

	12.
	For a rectangle with length = 6 ft and width = 4 ft find the perimeter and the area.

	13.
	Plot the points A:( 5, –2) and B:(0,4) on a x,y coordinate plane.

	14.
	Add: 
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	15.
	If 
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	16.
	If the sales tax is 6%, how much tax would be charged on a purchase of $25.50?

	17.
	Round 22,344,999 to the nearest ten thousand.

	18.
	Find the product of 
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 and 9.

	19.
	Write an algebraic expression for the sum of twice a number and 10 .

	20.
	If 
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, then solve for x.

	21.
	 If 
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	22.
	Find the slope of the line containing the points (2, –5) and (–6,1) .

	23.
	Find the slope of the line with equation 
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	24.
	Simplify:  
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	25.
	Solve:  
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	26.
	Simplify:  
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	27.
	Factor:  
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	28.
	Graph the line with equation 
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	29.
	Solve 
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	30.
	Simplify:  
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	31.
	Multiply:  (5x+7)(2x-3)

	32.
	Multiply:  (3x-5)(3x+5)

	33.
	Multiply: 
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	34.
	Factor completely:  
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	35.
	Factor completely:  
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	36.
	Factor completely:  
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	37.
	Simplify:  
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	38.
	Simplify:  
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	39.
	Simplify:  
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	40.
	Simplify:  
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	41.
	Solve:  
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	42.
	Solve:  
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	43.
	Divide: 
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	44.
	Subtract: 
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	45.
	Find slope and y-intercept:  
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	46.
	If 
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	47.
	Find an equation of the line with slope 
[image: image38.wmf]3
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 and containing the point (6,1) .

	48.
	Simplify:  
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	49.
	Find the equation of variation, if y varies directly as the square of x and y=50 when x=5.

	50.
	A 120 pound person should eat a minimum of 44 grams of protein each day.  How much protein should a 150 pound person eat each day?

	51.
	Solve the system:  
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	52.
	Graph:  
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	MATHEMATICS CHALLENGE TEST REVIEW SOLUTIONS

	1.
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	2.
	
[image: image44.wmf]3

10

-



	3.
	


	4.
	C

	5.
	z  -  7

	6.
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	7.
	9.12

	8.
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	11.
	13

	12.
	Perimeter is 20 ft.  Area is 24 ft2.

	13.
	


	14.
	
[image: image49.wmf]3

y

8

y

9

2

-

-



	15.
	
[image: image50.wmf]3

x

-

=



	16.
	$1.53

	17.
	22,340,000
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	19.
	2n + 10
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	25.
	x = 2
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	28.
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	3
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	41.
	x = 3 and x = 4

	42.
	
[image: image71.wmf]6

x

-

=



	43.
	
[image: image72.wmf]5

y

y

2

-



	44.
	
[image: image73.wmf]xy

6

y

10

x

9

-



	45.
	Slope is  
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 and y-intercept is  
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	50.
	55 grams of protein

	51.
	x = 2, y = 
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